/ \‘/ﬁ"f’v— (FRILREL) D

Hanger Ear Type D LS (81%%2)%11?000
% ( NTHERS s D RE 135mm20iBae

A |
1 1
! 1
! 1
1 1
| |
! 1
! 1
| |

_J

Za ! ! r

S | | 2
— |
| |

0 % i N Z i N
1 = =
S |
‘j,/ | |
(mm) 22 )
WOHEL | | BER
150~200| 60
2050k 100 L=500. SUSDEA . HMREE 019 ke
m & i & A HE ¥ B m &
1 | f%— 15 | CAC702. ih
2 | 49E 1 | CAC702
3 | RUY—7 1 C1020T
4 NA 1 SUS316 5
NA 1 | c5191B 5




/ \‘/ﬁ"f’v— (FRILLEL) DR S a-ifigEhs

Insulated Hanger Ear Type D 5(81%11 2)(())15?000
X( )WTﬁzELX%A: SRR 135mm2oiga
e
|
(mm) !
FEUSHAL L1 i
150~205 35 i
210~260 60 !
26511 100 !
|
|
|
—
| T
| ¢
|
L
1
#
>
A U= A==
|

RER

L=500, Me90, BEEE :0.23 kg

i B ® % M= # B " &
1 A X — 15 | CAC702. b
2 | A 1 SUS316 5
3 | #BA&A 1 FRP
4 | ##EAB 1 INJa—rT L




/ \‘/ﬁ"f’v— (RILREL) B

Hanger Ear Type B 4% SH21010000
& P (103005)
¥ (ORTEE D & 5248 135mm2oBa

15
2 ;
j y
i
o || @
' B
. 4
{ 29
|
22
L=500, Me90 SEE=:032 ke
o 0} om A #H= ® B " &
1 S — 15| CAC702
2 =10} 1 CAC702
3 A 1 SUS304 t2% 15
A 1 C1100 t2x 15
4 RRSERSIEE 1 ARyZ7aELy




/ \_‘/jj‘/f"('— SPT

& SH41020000
Hanger Ear Type SP (105002)
_ N Pl >
=250+ - \ \Q\L\
18

E %‘7 ! 7‘7
H
s |
[
O :

FUTEL

Bk

L=500, 8 EE=2:059 kg

B B & 4 = # B " &
1 A — 15 | CACT02, ftt

2 INUH 15| C5191B. b

3 Eeet 1 C5191

4 By 1 SUS304 @25x%x25




/\.ij"r)v_ ZHR

Hanger Ear Type ZH

X2 SH61010000
(108001)

UL | g
100~145 35
150~235 60
24000 100

FU~HEL

L=500, SUSDI5E. BREE 020 ke

Bno
ok
3
Bno
iy

= ¥ B " &
1 | 4v— 15| cé161
s SUS316
2| A 1 C5191B 5
3 | B¥nl 1 SUSXM7 M12x26 P15
4 | TTiEHhES 1 SUS304
5 | HERDHILEHF I 1 SUS304 M12 (Frfa %)




INIPTAN— (GEER) w

” ” y
Hanger Ear Type H for High—speed Rail “Shinkansen éalézg?gg)ooo

¢ 6

IFUTEL

FEUTEL
150~200 25
2010 E
L150. BEEE:020 kg
B B & 4 HE % B " &
1 41— 15| C6161
2 | A 1 C5191B b6
3 | "l 1 SUSXM7 M12%x30 P15
4 | TTIERES 1 SUS304
5 | HERpEHAHILDF VR 1 SUS304 M12 (Frfa %)




FOY/NR  suas

[X]# SD 11020000

Dropper for High—speed Rail ~Shinkansen (11500400)

®6

FUHEL
==

T
1
|
0

L=1000 & EE:0.30 ke
M B " &
1 A 1 C1100 b6

Bno
B
ok
Bno
i
b2
il

~d



I~°El“J/ §7'J “Jjo JISH SSD

Dropper Clip Type JIS and SSD

JISHZ
SD04010000

(mm)
BHEHR| D |RREE
St90mi | 12 | 0.20 kg

St135mii | 15 | 0.21 kg

() R~ 3RIESt13BMID B S

o B ® % 8 # B " &
1 S TAR 1 FCMB310
2 9y TBR 1 FCMB310
3 | RANBEARILL-FUE 15 | SS400 & SUS304 | M10
SSDF 32
SD01010000

(mm)

ERBE| D HREE
stoomf | 12 | 0.14 ke
St135mi | 15 | 014 ke

i B ® % = # B " &
1 PANPF.X" 15| sSuUs316 t3
2 | ALBHEY 1 SUS304 o4
3 RAIVIRILE-Fub 15 | SUS304 M10 % 35
4 EhEE 1 SUS304 M10
5 | Jwuia 15| +(06 £(90)., ¥'L—(135)
6 | BYEY 1 SUS304 $25%25




KOw/91)yT (FTEEHE ) pvrson

X & SD03020000

Dropper Clip for PH150mm, High—speed Rail “Shinkansen (112007)

PPP
T

_<
53\‘4“}

-

M10

PH150mm?

RAE &R

25
HREE:018ke

i B & 4 M= # B " &

1 SV TEIK 15| C6161

2 MnLOEY 1 C5191B

3 RAIVIRILE 1 SUS304 M10 X 50 X 25

4 | TTiEHhES 1 SUS304 M10

5 | TTHvubk 1 SUS304 M10

6 | FERWD HILEHF I 1 SUS304 M10

7 | REE€HN— 1 C1100 t0.2

8 By 1 SUS304 @25x%x25




KOw/NJ1) “Jjo (HTERHRFH) stoo. sti3smi

Dropper Clip for St90mm St135mr,

X & SD03040000

High—speed Rail “Shinkansen” (11200500)

WRARE| d
stoomi | 12
St135mi | 15
i B & 4 HE 2l " &

1 SUvTAR 1 S30C
2 9y TBR 1 S30C
3 | h5— 2 | SS400
4 | AhLBHEY 1 $S400
5 RERILE 1 SS400 M14 x 55 % 27.5
6 | TTiEHhES 1 SUS304 M14
7 | TTFHvbk 1 SUS304 M14
8 | HERWAHILEHF Y 1 SUS304 M140/ )
8 | ElYE> 1 SUS304 $3.2%32

10



KAy \/71) “Jjo (%ﬁﬁ?ﬁﬁﬁﬁ ) stiso0. stzdomi

Dropper Clip for St180mii St240m, . , EI#SD03010000
High—speed Rail “Shinkansen (112001)
28
— | —y
7
4 %’, | IO
N | 7
4 \
\\ /
(mm)
WFHRFE| D A B
st18omf | 175 | 17 | 26
St240mii | 20.0 | 18 | 27
B i R % M= ¥ B " &
1 o217 15| S30C
2 | ALBHEY 1 SS400
3 NRAIVIRILE 1 SS400 M14 x 55 % 30
4 | TTIEHRES 1 SUS304 M14
5 | TTHubk 1 SUS304 M14
6 | FRDD HIEDHT Y 1 SUS304 M14
7 EYE> 1 SUS304 $3.2%40

11



/5[\‘7)[/’()('_ JISHZ 178 &17&8

Double Ear Type JIS No.1

JISH 15E15

SJ01020000
2 ( j@
S/ T )
DOy i lD
\ ae ™
30 AVANE
60 41\
\GT110
HOFEE 046 kg
B 3 Wm A HE M B s *
1 14— F) 2 | CAC702
2 41X —(hF) 1 CAC702
3 | IMERARILE Uk 25 | SUS304 M14 X 60 X 50
4 IThEs 2 SUS304 M14

JISH: 15E25
SJ01010000

L
t':'

\GT170

G EE 076 ke

S B m % HE # B i &
1 | 41— A) 2 | CACT02
2 | 41— (hH) 1 | CAC702
3 | IMNERARILE-FYE 35 | SUS304 M14 X 60 X 50
4 | IFhEE 3 | Sus304 M14

12



BINAN— auw

X & SJ02020000

Stepped Double Ear (121002)

/
=

KERE ST iEn SIS AEE

i B & 4 HE # B " &
1 AYv— (5 FA) 1 CAC702
2 Av— (5 FB) 1 CAC702
3 Av— (b F) 1 CAC702
4 | IMNEARARILE-FUR 2% | sSUS304 M14 % 60 X 50
5 EhEE 2 SUS304 M14




BINAN— oaman

Double Ear for Hanger

NABA ()
SJ03010000

35 2

26 1

)
C =]
\ -~ j —
\\GTHO
HOFEE 049 kg
o S ME % B g &
1 14— F) 2 CACT702
2 41X —(hF) 1 CACT702
3 IMERARILE-F Uk 25 | SUS304 M14 X 60 X 50
4 IThEs 2 SUS304 M14

N R B
SJ04010000

' KEFET % n (LM N o110

S B & A HE # B i &
1 | 1v—HHFA) 1 | CAC702
2 | 1v—HAB) 1 | CAC702
3 | 41— (k) 1 | CAC702
4 | IMNEBRARILE-FYE 25 | SUS304 M14 X 63 X 53
5 St EE 2 | SUS304 M14

14



